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Question Id : 92090611038 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)

Question Label : Comprehension

A 31 3301 HRA TR gRI UdIfad U U1 SrdehH g, forgas Areqd @ agarediy dufa
3R TR Sl S YRd § 30 Iare) &1 FAnfor #33 & fore vicfed far s @1 @ | suet
Hten ol 8 o srewd ot oeht <Hall &1 FAmfon 3 & 8 st | orftas 811 uurviE wed & i
39 OISl & Saild oed 3l divll & Ul Udbe W HS 34 siear o g1 3R gg aHi dva
€ OId 39 a%] &1 JdIeA o A g1 g3 §1 | $9 BRIhH ST Igured TuFwHA ot =5 gl 3
25 RidaR, 2014 H1 a1 4T 9YT1 3BT e 3R &1 AYhI-gd §H18 | 39 T &
Haaey [T g1 3§ SR T IR @l &1 SN &HdT B a6 gF1 | 59 Jie- 9
Y 981 a1 U EF b 2 H &+t avg & Biad &4 gt quT g9 oA 3w H &+t axgeii @1
frafa & G | 39D Sfedl SR a%] &1 A HRd J 81 81 ot 391 Fafd Toe &y
1 Y5 PN | HRA 9N IXGSH & Iadied H AR g1 Smewm | yureE &1 39 Srden
&1 R HH P I5GYUl 1 S| HRd ford 13 § e axgshi &1 gl IdeA &
T, 9 fay & faefid < # wnfared el |reem |

Sub questions

Question Number : 1 Question Id : 92090611039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JUYER el & YR W Up Ifad e fafau

(1)  WIfd &1 fe2n ® u FaqA (2) O JAUET BT HATd
(3) TS 3 30T &1 =R 3l (4) e Hgl P fae
Options :

92090643601. 1
92090643602. 2
92090643603. 3
92090643604. 4

Question Number : 2 Question Id : 92090611040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{32 T HyA 31 ou F fafaw

A

B.

£

D.

E

Hep 3 sitsar SriEH 1 Wiyl 3 g [ oo ot orsst =arl &1 A 2w # € siftis
¥ 3iftrep 81

U HHH &1 Igure U 4t g Ardl 3 25 farar, 2014 &1 féan o)
S TIGHT ¥ W a% 3l &1 HiHd HH gt

IR TR a3l & Iag | eI g1 s |

U HAHH Y HRA AR 20 1 goft 7 wivrfera 8 S|

2 fou U faewmedl # I HEl IR &1 999 HIfoe

(1)
(2)
(3)
(4)

A,C,DBE
EEB D CA
A BCDE
C.DEAB

Options :

92090643605. 1
92090643606. 2
92090643607. 3
92090643608. 4

Question Number : 3 Question Id : 92090611041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RAsERume

HYUA |

. T 3 3fvgar &1 3 § T3ed DI 3! dieil o1 AT S 7 g

HYA || T H AR TSN 3R AR Bt DI &Hd &1 faH™ g |
JIUIad YA & AdS |, i U T fdeedl § 9 981 I &1 994 Sifvie

(1)
(2)
(3)
(4)

HYT | 3R 1| S TE B
&Y | 3R 11 G Teid ©
&Y | T8 8, dithd YA 1| 7Tad &
HY | T &, T B 11 Tel §

Options :
92090643609. 1



92090643610. 2
92090643611. 3
92090643612. 4

Question Number : 4 Question Id : 92090611042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fa @ pyA R MU E:

FY| ;WP 39 30sTr YR WHR §R1 Wfdd Uh UH dwd g, Sas mrem ¥
SEIPT HHAT SR e FHFE $1 URd § 3UF Iarel &1 Fmi & g
dicaried faan S|

U I OF 34 sivear Frfwd @ At € 2w & ISR T SR @Nil &1 S &
&1 fasTd ghm|

IWIad HYA & AP |, A iU U f[dwedl # 9 9gt 39 &1 994 Sifeiw

(1) DYHIARNEH IA T

(2) DY SR IS A §

(3) YA I9A e, Al Y1 3T &
(4) HYA| Y g, b HYA 11 A &

Options :

92090643613. 1
92090643614. 2
92090643615. 3
92090643616. 4

Question Number : 5 Question Id : 92090611043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 P Ty = 1 F1 e Sifore

-1 Gt -

(A) AP 37 3ftsar srfy H T () o s A
fraadgs

(B) W 3 30T FFHH &1 Igdred () W axgsf & Ao 4
HWRd & fobg v A farar an

(C) W& 3 3fvg e A foa &3 (i 25 Rrawa 2014
o sfrarfrRar sgit

(D) Wp 37 3f0sy FRIHH F URART (V) HRATGl 3 SIS &FdT BT
! fary &mdn &1 faswera g CEARETSI

1 feu o faweul & 9 Ot I &1 994 S

(1) (A=, (B)-(1), (C)-(IN), (D)-(IV)
(2)  (A)-(I), (B)-(I), (C)-(IV), (D)-(1)
(3) (A0, (B)-(1), (C)-(IV), (D)-(11)
(4)  (A)-(V), (B)-(11), (C)-(1), (D)-(1)

Options :

92090643617. 1
92090643618. 2
92090643619. 3
92090643620. 4

Question Id : 92090611038 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension



A 3 SFSAT YR TSR gRI UkdNdd U THI S1IHH g, [orad A1 J agrserd duf-ai
3R TR Ul S YR H 30 Ire] &1 Aoy H33 & fore vicfed fobar s @1 ® | 39et
iyt 31 § b Seewd o1 a1l <fieli @1 FAnor 3= | € orfdes § it 811 vyl &gd § fb
Y IS & 3ad oRed P el & Ul Udbe W HS 39 fear o g1 3R gg avi Iva
€ O 39 9% BT IdIGA < H 8 g 81 | 39 PAHH HT Igure UurEA 4t A= Hidt A
25 RdeR, 2014 BT a1 4T TUT SHHT I S D AYHaI-ga §F1 ¢ | 39 dIo-1 &
weeay AT 8 39 7 ISR G SR W &1 S &Hdl &I 9™ 89 | =9 Tiei- §
T 981 A1 T8 8 & S H &1 9 &1 BIHd HH SRl 99T 89 oY 3 H &1 awgeii &1
Frafa & 97 | 39F SEal SR g% &1 i YRa O 8 8 at Iuw Fafa aeeta iy
DI GG BN | HRA B a¥gsfl & Iare H SRR 81 S| uy== &1 39 HrichH
1 SRPH H B I YUl gl S HRd ford fom & avq] awqgsil o1 arguf IareH &
o, d¢ fay & fasfrd e & enfird gt s

Sub questions

Question Number : 1 Question Id : 92090611039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JUYeR TR & YR W U Ifd e fefau

(1) Wi &1 f&en &t $an (2) HE IS HT AT
(3) TS 3 30T &1 =R H3H1 (4) O el FI fae
Options :

92090643601. 1
92090643602. 2
92090643603. 3
92090643604. 4

Question Number : 2 Question Id : 92090611040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{32 T HyA 31 ou F fafaw

A

B.

£

D.

E,

Hep 3 sitsar SriEH 1 Wiyl 3 g [ oo ot orsst =arl &1 A 2w # € siftis
¥ 3iftrep 81

U HHH &1 Igure U 4t g Ardl 3 25 farar, 2014 &1 féan o)
S TIGHT ¥ W a% 3l &1 HiHd HH gt

IR TR a3l & Iag | eI g1 s |

U HAHH Y HRA AR 20 o1 goft 7 wierfera 8 S|

2 fou U faewmedl # I HEl IR &1 999 HIfoe

(1)
(2)
(3)
(4)

A,C,DBE
EEB D CA
A BCDE
C.DEAB

Options :

92090643605. 1
92090643606. 2
92090643607. 3
92090643608. 4

Question Number : 3 Question Id : 92090611041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RAsERume

HYUA |

. T 3 3fvgar &1 3 § T3ed DI 3! dieil o1 AT S 7 g

HYA || T H AR TSN 3R AR Bt DI &Hd &1 faH™ g |
JIUIad YA & AdS |, i U T fdeedl § 9 981 I &1 994 Sifvie

(1)
(2)
(3)
(4)

HYT | 3R 1| S TE B
&Y | 3R 11 G Teid ©
&Y | T8 8, dithd YA 1| 7Tad &
HY | T &, T B 11 Tel §

Options :
92090643609. 1



92090643610. 2
92090643611. 3
92090643612. 4

Question Number : 4 Question Id : 92090611042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fa @ pyA R MU E:

FY| ;WP 39 30sTr YR WHR §R1 Wfdd Uh UH dwd g, Sas mrem ¥
SIS HHET SR W HHFE 1 WRd § 304 Iamel &1 A & g
dicaried faan S|

U I OF 34 sivear Frfwd @ At € 2w & ISR T SR @Nil &1 S &
&1 fasTd ghm|

IWIad HYA & AP |, A iU U f[dwedl # 9 9gt 39 &1 994 Sifeiw

(1) DYHIARNEH IA T

(2) DY SR IS A §

(3) YA I9A e, Al Y1 3T &
(4) HYA| Y g, b HYA 11 A &

Options :

92090643613. 1
92090643614. 2
92090643615. 3
92090643616. 4

Question Number : 5 Question Id : 92090611043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 P Ty = 1 F1 e Sifore

-1 Gt -

(A) AP 37 3ftsar srfy H T () o s A
fraadgs

(B) W 3 30T FFHH &1 Igdred () W axgsf & Ao 4
HWRd & fobg v A farar an

(C) W& 3 3fvg e A foa &3 (i 25 Rrawa 2014
o sfrarfrRar sgit

(D) P 3 3f0sw FRAHH A URAET (V) HRAGl St S &FdT BT
! fary &mdn &1 faswera g CEARETSI

1 feu o faweul & 9 Ot I &1 994 S

(1) (A=, (B)-(1), (C)-(IN), (D)-(IV)
(2)  (A)-(I), (B)-(I), (C)-(IV), (D)-(1)
(3) (A0, (B)-(1), (C)-(IV), (D)-(11)
(4)  (A)-(V), (B)-(11), (C)-(1), (D)-(1)

Options :

92090643617. 1
92090643618. 2
92090643619. 3
92090643620. 4

Sub-Section Number : 2
Sub-Section Id : 920906360
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090611044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrofafad 7 9 fe wesal & Suwef ¢ 82
A. WY

B. g

c. sffiyyEas

D. faemmH

E.  JUBR
i fau U fasmed! 7 T 98 IWR &1 997 S :

(1) &dd C A
(2) &dd C,D
(3) dd A B
(4) &dd B,D

Options :

92090643621. 1
92090643622. 2
92090643623. 3
92090643624. 4

Question Number : 6 Question Id : 92090611044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrofafad 7 9 fe wesal & Suwef ¢ 82
A. WY

B. &

c. SifivEas

D. faemm

E.  JUBR
i fau U fasmed! 7 T 98 IWR &1 997 S :

(1) &dd C A
(2) &dd C,D
(3) dd A B
(4) &dd B,D

Options :

92090643621. 1
92090643622. 2
92090643623. 3
92090643624. 4

Question Number : 7 Question Id : 92090611045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i@l H ¢d i1 Hera) &1 Uel 314 3 -

(1)  HHR BT (2) MY gHUS! gl
(3) @I (4) 1Y HIAT
Options :

92090643625. 1
92090643626. 2
92090643627. 3
92090643628. 4

Question Number : 7 Question Id : 92090611045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl H el SAp11 Heray &1 9l 314 § -

(1) HBR B (2) 3ffes gHuSt g1
(3) o/ @IS (4) HIYBHIA
Options :

92090643625. 1
92090643626. 2
92090643627. 3
92090643628. 4

Question Number : 8 Question Id : 92090611046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gl | S 1Y I 11 1 /A Difore

- Tt i
(1) (BRD)
(&) I A TS (1) & HRE
(B) dEPeelSl A g Hledi g (1) H BRP
() feuray & wm Adadl § () SRS
(D) ® WTaM| A T B (IV) SMUICH HRE

12 fau v fawedl # O 9El IR &1 994 Sif;

(1) (A)-(n, B)-(1), (C)-(11), (D)-(IV)
(2)  (A)-(m), (B)-(IN). (C)-(IV), (D)-(1)
(3)  (A)-(), (B)-(1), (C)-(H), (D)-(IV)
4 (A)-(1), (B)-(IV), (O-(1), (D)-(l)

Options :

92090643629. 1
92090643630. 2
92090643631. 3
92090643632. 4

Question Number : 8 Question Id : 92090611046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | S 1Y I 11 1 /A Difore

- Tt i
(1) (BRE)
(&) I A TS (1) & HRE
(B) dEPeelSl A g Hledi g (1) H BRP
() feuray & wm Adadl § () SRS
(D) ® WTaM| A T B (IV) SMUICH HRE

12 fau v fawedl # O 9El IR &1 994 Sif;

(1) (A)-(n, B)-(1), (C)-(11), (D)-(IV)
(2)  (A)-(m), (B)-(IN). (C)-(IV), (D)-(1)
(3)  (A)-(), (B)-(1), (C)-(H), (D)-(IV)
(4 (A)-(), B)-(IV), (O)-(1), (D)-()

Options :

92090643629. 1
92090643630. 2
92090643631. 3
92090643632. 4

Question Number : 9 Question Id : 92090611047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I & IR Al 4R G S 91 | -9 g g7

(1) S faggor (2) TUrEarEs fagmo
3) HEdrEed fqgm @) ufwrorEiee fao
Options :

92090643633. 1
92090643634. 2
92090643635. 3
92090643636. 4

Question Number : 9 Question Id : 92090611047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M & YN die HR HHT § are H Si-91 fag g7

(1) S fagor (2) TUrErS fagmo
3) Herars fqgm @) ufwrrEiys fageo
Options :

92090643633. 1
92090643634. 2
92090643635. 3
92090643636. 4

Question Number : 10 Question Id : 92090611048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHT UG Al &' | a1 H iy a1 e 82

(1) He foomn (2) Wt o
(3) Udoiferd fepan 4) SAH AP Bl
Options :

92090643637. 1
92090643638. 2
92090643639. 3
92090643640. 4

Question Number : 10 Question Id : 92090611048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FH1 Tgh ict &' | a1 # fow fpa w1 | 82

(1) He foomn (2) Wt o
(3) Ydoiferd fepan 4) SAH AP T8l
Options :

92090643637. 1
92090643638. 2
92090643639. 3
92090643640. 4

Question Number : 11 Question Id : 92090611049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
GHIBRO m-n+9 = 0 TYN m+3n =19 B P FH Al m T4 n & HH HA: &

(1) 2, -7 (2) 7,-2
(3) 2,7 4) 27
Options :

92090643641. 1
92090643642. 2
92090643643. 3
92090643644. 4

Question Number : 11 Question Id : 92090611049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GBI m-n+9 = 0 AU m+3n =19 B WP FA Al m dUT n & UH HAL: &

{1} 21 _? {2] ?.l _2
2 2T 4 -2,7
Options :

92090643641. 1
92090643642. 2
92090643643. 3
92090643644. 4

Question Number : 12 Question Id : 92090611050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ufg 8% =47 =2 QU x+2y+2z=35 B al x FIAAE -

() 3 (2) 4
(3) 5 4 2
Options :

92090643645. 1
92090643646. 2
92090643647. 3
92090643648. 4

Question Number : 12 Question Id : 92090611050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Ufg 8% =47 =2 QU x+2y+2z=35 B al x FIAAE -

(1) 3 (2) 4
(3) 5 4 2
Options :

92090643645. 1
92090643646. 2
92090643647. 3
92090643648. 4

Question Number : 13 Question Id : 92090611051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frdt <Y oivi] & dYaH qUl HETaH &1 0F Bd X —x’y+x7° —)~° 8l afe uyn aivs
(xz+y3] &1 il gIRI el gNT-

M  (x-y) @ (x+y)
@ (¥-5) @ (x-y+a)
Options :

92090643649. 1
92090643650. 2
92090643651. 3
92090643652. 4

Question Number : 13 Question Id : 92090611051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fp=gt <t il & TgaH qUl HEH &1 0F B X -2y +x° -0 8l afe uyn e
(x2+y1] ﬂﬁmwa‘m-

M (x-y) @ (x+y)

@ (¥-y) @ (x-y+a)



92090643649. 1
92090643650. 2
92090643651. 3
92090643652. 4

Question Number : 14 Question Id : 92090611052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?%% At R ST B R A BIE YRR ey T & So+ 71 ST ST 8 Sienm?

(1) 143943 HE (2 1394478
3) 13a99HE @) 1394378
Options :

92090643653. 1
92090643654. 2
92090643655. 3
92090643656. 4

Question Number : 14 Question Id : 92090611052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?%% It RN ST B &R A B 4RI b W & SO+ /11 &1 ST 81 SIm?

(1) 14@43HE (2) 13394 4 H1E
(3) 13@Y9HE (4) 1394 3 HIE
Options :

92090643653. 1
92090643654. 2
92090643655. 3
92090643656. 4

Question Number : 15 Question Id : 92090611053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10% aTftes Twrgle wTe @1 3 4 fra quem @1 e 6 #7E ¥ 216,810 §1 S0 SElE
Tt famTgl =ehdfs: forar mn g1

(1) 116,400 (2) 15,500
(3) 215,000 (4) 16,000
Options :

92090643657. 1
92090643658. 2
92090643659. 3
92090643660. 4

Question Number : 15 Question Id : 92090611053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10% aftfe Twafe s #1 X I 5 qou= &1 Y= 6 7 7 216,810 B SO wEfE
Tt famTe! =kt forar T g1

(1) $16,400 (2) 15,500
(3) £15,000 (4) 16,000
Options :

92090643657. 1
92090643658. 2
92090643659. 3
92090643660. 4

Question Number : 16 Question Id : 92090611054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y6SaQ$7*WH#T3UE%A4 IURIad A fa=ar  fba- Hdd § fors depra ydadf
3R depTd IaRadl Hebd U WR auf g

{1 2y 2
(3 3 4) 4
Options :

92090643661. 1
92090643662. 2
92090643663. 3
92090643664. 4



Question Number : 16 Question Id : 92090611054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y65aQ$7*WH#T3UE%A4 IURIad A fa-ar  fba Hdd € fore depra ydadf
3R IeBTd STRad| Uobd Ud TR aul g

12 (2) 2
(3 3 4) 4
Options :

92090643661. 1
92090643662. 2
92090643663. 3
92090643664. 4

Question Number : 17 Question Id : 92090611055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
®U . UH Blad a9 el TR S B 31 ¢ [ I8 U HfadiTd SR Wilg |
YR | : TS AfGRTd SR AaLIHdl gl U [aarrd g |

Il : U SAfaaiTd S’ Hedl i uiadl H gie S8
(1) &ad YdyRom |
(2) ad gdyRoT ||
(3) Pdd QYR | 3R GEURO ||

(4) T QAURON | 3R 9 g QRO ||

Options :

92090643665. 1
92090643666. 2
92090643667. 3
92090643668. 4

Question Number : 17 Question Id : 92090611055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HU . U Hiad aandl A 1 TR D B 31 ¢ [ 9¢ U HladiTd SRR WilG |
SIUYRUN |: U AfckdiTd LR ATl g] U A g |

|| : U AT IR HRIAal D Toial J 3ig AT 8

(1)  Pdd YdURUT |

(2)  Fdd gdyRo ||

(3)  hdd YAYROT | 3R GAERM ||
(4) AT YGURON | 3R 7 € qEURoT I

Options :

92090643665. 1
92090643666. 2
92090643667. 3
92090643668. 4

Question Number : 18 Question Id : 92090611056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

M UidesU & 60 H 3fFTd =1 J1d B

ADYADNAR

(1) —30 2y 13
(3) 18 4y 30
Options :

92090643669. 1
92090643670. 2
92090643671. 3
92090643672. 4

Question Number : 18 Question Id : 92090611056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



A Ui & S0 7 SEITd S=AT J1d B |

ADNADNAR

(1) -30 23 13
(3) 18 4) 30
Options :

92090643669. 1
92090643670. 2
92090643671. 3
92090643672. 4

Question Number : 19 Question Id : 92090611057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

79 3@ 7 -t e @ gHai 82

(1 10 2) 19
(3 18 @) 20
Options :

92090643673. 1
92090643674. 2
92090643675. 3
92090643676. 4

Question Number : 19 Question Id : 92090611057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 s # fba- T # gua g2

(1) 10 2 19
(3) 18 4y 20
Options :

92090643673. 1
92090643674. 2
92090643675. 3
92090643676. 4

Question Number : 20 Question Id : 92090611058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

45 &1 U D 8, Wgl W dssd dsiddl 9 &1 A ¢, iar i & miRed WA W 813G 6 asdh
e § uge 8, feal sfeal avft § 3w ugrd gl

(1) 34 (2) 24
(3) 10 4y 12
Options :

92090643677. 1
92090643678. 2
92090643679. 3
92090643680. 4

Question Number : 20 Question Id : 92090611058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

45 &1 U D 8, Wgl W dssd dsiddl 9 &1 A ¢, iar i & miRed WA W 813G 6 asdh
a4 uga 8, feal wrsfeal avft § 3w ugrd gl

(1) 34 (2) 24
(3) 10 4) 12

Options :



92090643677. 1
92090643678. 2
92090643679. 3
92090643680. 4

Question Number : 21 Question Id : 92090611059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRtol-9-Fafdrce guurmmelA vormed fasfid g8 - MOHF10 & forg, o Am fear man ur

(1) e-ferfdrcan (E-chikitsa) (2) e-Toilgl (E-sanjeevani)
(3) e-4d¥ (E-swasthya) 4) e-fAafor (E-nirvana)
Options :

92090643681. 1
92090643682. 2
92090643683. 3
92090643684. 4

Question Number : 21 Question Id : 92090611059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ttol-9-fafdrcae grurmael= yormd fasfRia g3 - MOoHF10 & forg, ford am faan man u

(1) e-Fefdca (E-chikitsa) (2) e-Tullg-l (E-sanjeevani)
(3) e-td¥ (E-swasthya) 4) e-fAafor (E-nirvana)
Options :

92090643681. 1
92090643682. 2
92090643683. 3
92090643684. 4

Question Number : 22 Question Id : 92090611060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fasm, wa, Wt iR JHeEE geyfA ¥ U0 91 & o 9ew Ayufd gR1 FAr fe
EIGKE

(1) 20 (2) 8
(3) 12 (4) 15
Options :

92090643685. 1
92090643686. 2
92090643687. 3
92090643688. 4

Question Number : 22 Question Id : 92090611060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagT, efl, Ui SR WHRAd gEyfA & T8 941 & o wew ayufd grR1 a4-Td fau
id 82

(1) 20 2y 8
(3) 7 (4 15
Options :

92090643685. 1
92090643686. 2
92090643687. 3
92090643688. 4

Question Number : 23 Question Id : 92090611061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & GayH g UMdeR —— AU Sdl e

(1) HRd & gar= gy (2) HRA Iag
(3) HRA DI T 4) HayAe I
Options :

92090643689. 1
92090643690. 2
92090643691. 3
92090643692. 4



Question Number : 23 Question Id : 92090611061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &1 Siay 99 UIideR —— | U ®al 6

(1) HRd &I 9dre A/arey (2) HRAH H§Hg
(3) HRA DI oTdl (4) HayTEd THI
Options :

92090643689. 1
92090643690. 2
92090643691. 3
92090643692. 4

Question Number : 24 Question Id : 92090611062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 2025 O Hd WY Tl (CNES) & T8N ¥ YR SfdRer SF¥YUM T84 (ISRO) $H
o1 e 3R 33 1 o1 991 BT 2

(1) H79 - feE (2) gewid mEA
3) e (4) b e
Options :

92090643693. 1
92090643694. 2
92090643695. 3
92090643696. 4

Question Number : 24 Question Id : 92090611062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 2025 dP Thd WY Taid! (CNES) & Heal ¥ YR Sfalkel S8YE W64 (ISRO) BH
o1 e 3R 33 1 a1 491 @1 2

(1) Hd - fEE (2) gewid AEA
3) o e (4) I e
Options :

92090643693. 1
92090643694. 2



92090643695. 3
92090643696. 4

Question Number : 25 Question Id : 92090611063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIod & °fST] Ugad S e Tau-e U g

(1) o Fae sifaags

2 fYfcreA sgaflaaEs

3) ffeep Rifcee

4) o W siiqargs SR Rifaei Sgsiiaurgs &1 g

Options :

92090643697. 1
92090643698. 2
92090643699. 3
92090643700. 4

Question Number : 25 Question Id : 92090611063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®Icy &1 Uiedl Ugad HIcy fohed IMEHS T § ;

(1) o Fam sfiqags

2) fferepra sgafiaaEss

3) fHifcrei Rifarde

(4) o o silqarss iR Riferei- Sgsiiaarss &1 s

Options :

92090643697. 1
92090643698. 2
92090643699. 3
92090643700. 4

Part B: Library and Information Science

Section Id : 920906220
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906361
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090611064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who invented the Browne charging system?

(1) Dick-man A. Browne (2) Ralph A. Browne
(3 Rina E. Browne (4) Nina E. Browne
Options :

92090643701. 1
92090643702. 2
92090643703. 3
92090643704. 4

Question Number : 26 Question Id : 92090611064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 SNTH-FH yurTelt &1 snfashR e fdar ur

(1) fEe-AuaRsA (2) Ih T I
3 s §ea 4) T AT
Options :

92090643701. 1
92090643702. 2
92090643703. 3
92090643704. 4

Question Number : 27 Question Id : 92090611065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is important in relation to third law of library science?

(1) Size of the library (2) Charging system
(3) Publicity (4) Growth of collection
Options :

92090643705. 1
92090643706. 2
92090643707. 3
92090643708. 4

Question Number : 27 Question Id : 92090611065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QIbTad i & qodid Faw & ey | Fafefad 3§ 3 o149 91 dwd deayui 82

(1) Y&l &l HTHR (2) SMPTH-FE gomed
3) VAR-YER (4) FueHalE
Options :

92090643705. 1
92090643706. 2
92090643707. 3
92090643708. 4

Question Number : 28 Question Id : 92090611066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the chairman of working group on libraries in 1964 to formulate comprehensive

programme for the development of public libraries with due emphasis on children and Rural
libraries appointed by planning commission?

(1) A.C. Dickinson (2y B.H. Mehta
(3 V.K.R.V. Rao (4) S.R. Ranganathan
Options :

92090643709. 1
92090643710. 2
92090643711. 3
92090643712. 4

Question Number : 28 Question Id : 92090611066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT AT GRT 1] Ud AR GEaerdl OR ad UeH & & [ s [der srismd
£d a8 1964 H QRadTad] & SRIGR] THE o1 sfeae fbd Fged favan man ur?

(1) T fefe= (2) «iU" d@gdl
3) dFH IR TG (4) TH AR THEIYHA
Options :

92090643709. 1
92090643710. 2
92090643711. 3
92090643712. 4

Question Number : 29 Question Id : 92090611067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Before independence the National Library of India was known as

(1) Library of India (2) Imperial Library
5] British Library (4) Indian Library
Options :

92090643713. 1
92090643714. 2
92090643715. 3
92090643716. 4

Question Number : 29 Question Id : 92090611067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WAd ¥ gd, HRAW AP GTay ] 6y ATH 8 S Sirdr 91

(1)  HRd &I Jxibred (2) Qe GBIl
3) fefewr g (4) MR G&IGTEd
Options :

92090643713. 1
92090643714. 2
92090643715. 3
92090643716. 4

Question Number : 30 Question Id : 92090611068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not the kind of library committee?

(1) Self perpetuating committee (2) Rolling committee
5] Recommending committee (4) Executive committee
Options :

92090643717. 1
92090643718. 2
92090643719. 3
92090643720. 4

Question Number : 30 Question Id : 92090611068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad # @ o 91 qEddrayg |itfd &1 UeR 8l 87

(1) I i (2) ! @i Iffa
(3) o< Wil (4) SHHR wifg
Options :

92090643717. 1
92090643718. 2
92090643719. 3
92090643720. 4

Question Number : 31 Question Id : 92090611069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Paul Otlet and Henri La Fontaine has initiated the organization

(1) IFLA (2) LA
(3) FID (4) ASLIB
Options :

92090643721. 1
92090643722. 2
92090643723. 3
92090643724. 4

Question Number : 31 Question Id : 92090611069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



uTet sifeete SR 3R o1 Wi I Ffefed # @ ey W & wrssmd &1 2

(1) SEUGTATU(IFLA) (2) TAU(LA)
(3) UB Sl (FID) (4) TTHUA S (ASLIB)
Options :

92090643721. 1
92090643722. 2
92090643723. 3
92090643724. 4

Question Number : 32 Question Id : 92090611070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has defined “Management 1s the art of getting things done through and with
informally organized group™?

(1) George R. Henry (2) Harold Koontz
(3) Lawerence Appley (4) Peter F. Drucker
Options :

92090643725. 1
92090643726. 2
92090643727. 3
92090643728. 4

Question Number : 32 Question Id : 92090611070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiea 7 9 e gg uiefla féan i -+ ey sruaniyes wu 3 @fdd 99 & [
T IS 1Y T B UId B DI Hall g° ?

(1) T 3R & (2) eles Fed
(3) R (4) UIeR Uh g
Options :

92090643725. 1
92090643726. 2
92090643727. 3
92090643728. 4

Question Number : 33 Question Id : 92090611071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

‘International who's who' is an example of

(1) Biographical source (2) Bibliographical source
(3) Geographical source (4) Edueational source
Options :

92090643729. 1
92090643730. 2
92090643731. 3
92090643732. 4

Question Number : 33 Question Id : 92090611071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHRAPT Sfia-it aifie! Fafafad $1 ue IeERY 3

(1)  Silgd 9Rkd Wi (2) YRS TWId
(3) Hrfere Wi (4) Dféve @
Options :

92090643729. 1
92090643730. 2
92090643731. 3
92090643732. 4

Question Number : 34 Question Id : 92090611072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Reference Service’ has been defined as direct aid to library users who need a
particular book or who need some information embodied in any book by :

(1) 5.5, Green (2) A.G.Rugh
(3) B.M. Robinson (4) William A. Katz
Options :

92090643733. 1
92090643734. 2
92090643735. 3
92090643736. 4

Question Number : 34 Question Id : 92090611072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafatEa & 9 e ey Jar &1 37 gy Iudidbdrsi & e Yde 9gd & w9 §
R far g, forg foedl fadm qeas a1 fadl qeas & g $@ ¥a1 &t siaaddl
Bidig?

(1) THUE I+ (2) USFEY
(3) A (4) faferm uapred
Options :

92090643733. 1
92090643734. 2
92090643735. 3
92090643736. 4

Question Number : 35 Question Id : 92090611073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NISCAIR was formed on 30th September 2002 by merging

(1) NISTAD and NIC (2) NISCOM and INSDOC
(3) NISCOM and CSIR (4) INSDOC and DESIDOC
Options :

92090643737. 1
92090643738. 2
92090643739. 3
92090643740. 4

Question Number : 35 Question Id : 92090611073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafag & @ feud faea g1 30 RIdeR 2002 & FRFAT (NISCAIR) &1 64 o
1 Y1 ?

(1) ReT8 3R U 315 | (NISTAD and NIC)
(2) FReM 3R $¥STH (NISCOM and INSDOC)
(3) ™ 3R I Ty 318 3R (NISCOM and CSIR)

(4) TSP 3R ISP (INSDOC and DESIDOC)

Options :
92090643737. 1
92090643738. 2



92090643739. 3
92090643740. 4

Question Number : 36 Question Id : 92090611074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Worldeat’ is a product of

(1) JANET (2) OCLC
(3) INFLIBNET (4) LASER
Options :

92090643741. 1
92090643742. 2
92090643743. 3
92090643744. 4

Question Number : 36 Question Id : 92090611074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrede Mufafad & 9§ Fae Sug & 7

(1)  SHe (JANET) (2) SfuEE (oCLo)
(3)  SBfel@dc (INFLIBNET) (4) TG (LASER)
Options :

92090643741. 1
92090643742. 2
92090643743. 3
92090643744. 4

Question Number : 37 Question Id : 92090611075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these i1s not the component of SDI system?

(1) User Profile (2) Document Profile
(3) News Clipping (4) User Interface
Options :

92090643745. 1
92090643746. 2
92090643747. 3
92090643748. 4



Question Number : 37 Question Id : 92090611075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e i A S s dIFI Ucs A A el 6 ?

(1)  IUdiad WHTsd (F0E) (2) Ve EuEl
(3) HHMRER $awA (g feaf) (4) IuYlel aIyy
Options :

92090643745. 1
92090643746. 2
92090643747. 3
92090643748. 4

Question Number : 38 Question Id : 92090611076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the originator of Bibliographic classification (B.C. 1944-1953)?

(1) Melvil Dewey (2) H.E. Bliss
(3) J.D. Brown (4) M.P. Satija
Options :

92090643749. 1
92090643750. 2
92090643751. 3
92090643752. 4

Question Number : 38 Question Id : 92090611076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty — G Hael iRl ( BC, 1944-1953) & TS A ?

(1) Afcaa & 2 wa3 feaw
3) W@ §3A 4) THGU Fdren
Options :

92090643749. 1
92090643750. 2
92090643751. 3
92090643752. 4



Question Number : 39 Question Id : 92090611077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Notation of UDC is almost with Arabic numerals having their own
inherent ordinal value.

(1) Pure (2) Mixed
(3) Pure and mixed (4) Flexible
Options :

92090643753. 1
92090643754. 2
92090643755. 3
92090643756. 4

Question Number : 39 Question Id : 92090611077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 31l BT 3Bl 39 T & “siaffed HHYID HF dldl 3Ra! bl & WY T
gIdl g

(1) Y& 2) afsa
3) U< udafga 4) T
Options :

92090643753. 1
92090643754. 2
92090643755. 3
92090643756. 4

Question Number : 40 Question Id : 92090611078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Filing the catalogue cards is an important step in the of catalogues.
(1) Security (2) Access
(3) Maintenance (4) Organisation

Options :

92090643757. 1
92090643758. 2
92090643759. 3
92090643760. 4



Question Number : 40 Question Id : 92090611078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U 1 shHRIH YRl & 1 U Hedqul TRl § -

(1) g (2) iR
(3) 4 —XMIg ( S]IE) (4) SOd®MUA
Options :

92090643757. 1
92090643758. 2
92090643759. 3
92090643760. 4

Question Number : 41 Question Id : 92090611079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many core elements of Dublin Core as on 20227

(1) 16 (2) 18
(3) 20 (4) 22
Options :

92090643761. 1
92090643762. 2
92090643763. 3
92090643764. 4

Question Number : 41 Question Id : 92090611079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 2022 d% Sgafe- DR & Hol dd fhaa 4 2

(1) 16 2) 18
3) 20 4) 22
Options :

92090643761. 1
92090643762. 2
92090643763. 3
92090643764. 4



Question Number : 42 Question Id : 92090611080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Canon of Recall value was propounded in 1969 by

(1) C.A. Cutter (2) Melvil Dewey
(3) H.E. Bliss (4) S.R. Ranganathan
Options :

92090643765. 1
92090643766. 2
92090643767. 3
92090643768. 4

Question Number : 42 Question Id : 92090611080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UTed A SiH{EH o1 ufeare 9y 1969 # g fbar ur 2

(1) W HFR (2) Afead f&dt
3) TUHsf&wm (4) THR TFEE
Options :

92090643765. 1
92090643766. 2
92090643767. 3
92090643768. 4

Question Number : 43 Question Id : 92090611081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Record of the books in a library arranged in the order in which they stand on the

(1) Cabinet (2) Book Tray
(3) Cireulation (4) Shelves
Options :

92090643769. 1
92090643770. 2
92090643771. 3
92090643772. 4



Question Number : 43 Question Id : 92090611081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

febfl qepTerd # e & Sifie &1 Hafeid ofhd, forah gwdd R gl
|

(1) AR (2) JKI&HC
(3) U= (4) e (FurF)
Options :

92090643769. 1
92090643770. 2
92090643771. 3
92090643772. 4

Question Number : 44 Question Id : 92090611082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The structure of main classes in DDC is based on the order of Francis Bacon's ‘Chart

of Learning’ as inverted and modified by 1870.

(1) W.H. Harris (2) Paul Otlet

(3) S.R. Ranganathan (4) C.A. Cutter
Options :

92090643773. 1
92090643774. 2
92090643775. 3
92090643776. 4

Question Number : 44 Question Id : 92090611082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St 81 4t 7 e avif &1 S Bifiy 9 & SffET 91e & ohH R e g o ad 1870
o GRT 3ffdspd Ud efed foar mar o

(1) Sog, ua g (2) U sfiede
(3) UHR YA 4) WU P
Options :

92090643773. 1
92090643774. 2
92090643775. 3
92090643776. 4



Question Number : 45 Question Id : 92090611083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The UDC has been published under the ages of British Standards Institution (BSI),
the National Standardisation of

(1) USA (2) Canada
(3) France (490 UK
Options :

92090643777. 1
92090643778. 2
92090643779. 3
92090643780. 4

Question Number : 45 Question Id : 92090611083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g St Ul &1 UBEH AP AHES TS, fafewr Ae JH (8 S 1) & daEyH |
g3 Ul

(1) Juuyg (2) PTEl

3) W 4 4F

Options :

92090643777. 1
92090643778. 2
92090643779. 3
92090643780. 4

Question Number : 46 Question Id : 92090611084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mode of transmission, where message travels in only one direction is called :

(1) Simplex (2) Duplex
(3) Half Duplex (4) Full Duplex
Options :

92090643781. 1
92090643782. 2
92090643783. 3



92090643784. 4

Question Number : 46 Question Id : 92090611084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YaRY #1 gg fafY, foras o9 Fad ue foan # sl sedi g, SY HeI T e

(1) e (2) SwiHd
(3) B gWed 4) Pd geidd
Options :

92090643781. 1
92090643782. 2
92090643783. 3
92090643784. 4

Question Number : 47 Question Id : 92090611085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the major aim of RRELF?

(1) To promote the Library Consortia

(2) To promote the 1LL

(3) Promote and support special libraries

(1) Promote and support public library movement
Options :
92090643785. 1
92090643786. 2

92090643787. 3
92090643788. 4

Question Number : 47 Question Id : 92090611085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HR AR AR TAUE (RRRLF) P UE AT A1 g ?

(1) QiIbIad U9 &l Uiclied BT

(2) 31 U Ud B UieHTfed BT

(3) a9 qaebTerdi S1 UichTeH Ud THYA UgH &A1

(4)  Hdul-® GbIad figiad &I Uidiie Ud 90U UgH &1



Options :

92090643785. 1
92090643786. 2
92090643787. 3
92090643788. 4

Question Number : 48 Question Id : 92090611086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a function of Aequisition Section?

(1) Selection (2) Accession
(3) Order (4) Classification
Options :

92090643789. 1
92090643790. 2
92090643791. 3
92090643792. 4

Question Number : 48 Question Id : 92090611086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG SR &1 $ Foffed TS eH T gl 8 2

(1) I8 (2) uimEm
(3) U™ (4) dffeBur

Options :

92090643789. 1
92090643790. 2
92090643791. 3
92090643792. 4

Question Number : 49 Question Id : 92090611087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is a technique to examine the state of information resources, both
quantitatively and qualitatively in certain subject and helps in identifving strengths
and weaknesses of a certain fixed collection.

(1) Collection building (2) Collection mapping
(3) Citation analysis (4) Currency analysis



Options :

92090643793. 1
92090643794. 2
92090643795. 3
92090643796. 4

Question Number : 49 Question Id : 92090611087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fopt fawa & AT Ud Tuned ST S Ul H Y1 ST DI 3T & udia $
yiaf¥ & 3R g8 fbxt AYd g & wad Ua gaa uall &1 Rifed &= # ggrd &3dl &

(1)  FUgu&erg (2) Gugu fEm
(3) 3L fageyo 4) UdaH fageyo
Options :

92090643793. 1
92090643794. 2
92090643795. 3
92090643796. 4

Question Number : 50 Question Id : 92090611088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who introduced the term scientific management?

(1) Herbert A. Simon (2) Louis Brandeis
(3) Chester Barnard (4) Peter Drucker
Options :

92090643797. 1
92090643798. 2
92090643799. 3
92090643800. 4

Question Number : 50 Question Id : 92090611088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9IS Uy U &1 SR g fvan ot 2

(1) & uRmA (2) 29 siE
3) dIRIS (4) TR



Options :

92090643797. 1
92090643798. 2
92090643799. 3
92090643800. 4

Question Number : 51 Question Id : 92090611089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who took initiative towards the formation of JOCLAI to coordinate the activities of
national and state level library associations?

(1) RRRLF (@) ILA
(3) [ATLIS (4) IASLIC
Options :

92090643801. 1
92090643802. 2
92090643803. 3
92090643804. 4

Question Number : 51 Question Id : 92090611089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST U4 I WY Yo 89 &1 Tfafafidl & gAau & foe sieas (JOCLAN & 16
P! Ugd fHy- o1 2

(1)  RRRLF (3R 3R 3R T UH) @) ILA (3T Ta 1)
(3)  IATLIS (3% U & ud a1 ug) (4) TASLIC ({1 U T U 3115 )
Options :

92090643801. 1
92090643802. 2
92090643803. 3
92090643804. 4

Question Number : 52 Question Id : 92090611090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is used to make call number properly visible to the users when the book is
shelved?

(1) Ownership slip (2) Spine label
(3) Book pocket (4) Book card
Options :

92090643805. 1
92090643806. 2
92090643807. 3
92090643808. 4

Question Number : 52 Question Id : 92090611090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g&d® e (A & w6 g1d & f Sudiddis & &l Ja gRid 9 J S30HE g

& fore Fofafea 7 9 g wam foear o @

(1) Wd gl (2) w5 (4te) AW ferodt
(3) U&IP Ulde (4) TS PlS
Options :

92090643805. 1
92090643806. 2
92090643807. 3
92090643808. 4

Question Number : 53 Question Id : 92090611091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has introduced first electrically operated book charging system?

(1) Ulveling (2) Newark
(3) Browne (4) Gaylord Brothers
Options :

92090643809. 1
92090643810. 2
92090643811. 3
92090643812. 4

Question Number : 53 Question Id : 92090611091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafifed & | fFa aduyw faya Seiied g gl 9&id &1 sk a2

(1)  IJedram (2) “4OIH
(3) |3l (4) TIETS Sed
Options :

92090643809. 1
92090643810. 2
92090643811. 3
92090643812. 4

Question Number : 54 Question Id : 92090611092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not the source from where library usage data are collected?

(1) Create register

(2)  Library circulation counter

(3)  Books and periodicals shelving

(4)  Classification register to register the work of classifier
Options :
92090643813. 1
92090643814. 2

92090643815. 3
92090643816. 4

Question Number : 54 Question Id : 92090611092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad § 4 98 Wid &F w1 78 & oel ¥ [aaray Iudi S1el UHhd 68 oI 8 2

(1) T ufeeT (fhue Ferey)

(2) YIHd gREmEd ued

(3) U¥d Ud Ul 9y fa=

(4) THIHER & B Yol & fou arifeor dforesT

Options :

92090643813. 1
92090643814. 2
92090643815. 3
92090643816. 4



Question Number : 55 Question Id : 92090611093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following falls under category of National Library of a country?

(1) National Chemical Laboratory Library

(2) Indian Institute of Public Administration of Library
(3)  The British Library

(4) Central Building Research Institute Library

Options :

92090643817. 1
92090643818. 2
92090643819. 3
92090643820. 4

Question Number : 55 Question Id : 92090611093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&2 & WP qrdsTer i Juit & siorfa Fafifad # @ & arsmarg 2

(1) IEH IEEFE JETe Read

(2) R die U TR YEiDied

3)  fofew gxasrem (< fafew amgs

(4)  H=1g Ha FH SFEHY SRIH YEabTay

Options :

92090643817. 1
92090643818. 2
92090643819. 3
92090643820. 4

Question Number : 56 Question Id : 92090611094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is an organized factual, statement of the duties and responsibilities of a

specific job.

(1) Job enrichment (2) Job design

(3) Job analysis (1) Job description

Options :



92090643821. 1
92090643822. 2
92090643823. 3
92090643824. 4

Question Number : 56 Question Id : 92090611094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fodt fafRry &1 & wdal Ud SaRaitidl & Yoaaiyd qWuRd HY © -

(1) & HasH (2) BH dfHHA
(3) P [agem 4) M fau
Options :

92090643821. 1
92090643822. 2
92090643823. 3
92090643824. 4

Question Number : 57 Question Id : 92090611095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mechanism to send message in many directions with minimum delay is known as

(1) Modem (2) Switching
(3) Bandwidth (4) Modulation
Options :

92090643825. 1
92090643826. 2
92090643827. 3
92090643828. 4

Question Number : 57 Question Id : 92090611095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T [Jde & a1y 3 fansit & e dwur &t daracl e @
(1) HisH (2 fafm

3) dsfagy (4) WIS

Options :



92090643825. 1
92090643826. 2
92090643827. 3
92090643828. 4

Question Number : 58 Question Id : 92090611096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Celebration of local festivals in a library is an example of

(1) Extension service (2) Current Awareness Service
(3)  Referral service (1) Reference service
Options :

92090643829. 1
92090643830. 2
92090643831. 3
92090643832. 4

Question Number : 58 Question Id : 92090611096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fereit gasTer ® R udl (Idl) &1 THRIE J-H1 Fafalad & 9 fhud 3 g ?

(1) far ar (2) TMHAS SRS Hdl
3) Fdewe dan (4) Hed Iar
Options :

92090643829. 1
92090643830. 2
92090643831. 3
92090643832. 4

Question Number : 59 Question Id : 92090611097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is concerned with providing reading guidance to individuals.

(1) Reprography Service (2) Information Retrieval
(3)  Referral Service (1) Reader’s advisory Service
Options :

92090643833. 1



92090643834. 2
92090643835. 3
92090643836. 4

Question Number : 59 Question Id : 92090611097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sl 1 9 Ay UgH #33 A Hafid §
(1)  wufafcrfoeszor ar (2) I g
3) FAdIw® da (4) UTEH WAL Far

Options :

92090643833. 1
92090643834. 2
92090643835. 3
92090643836. 4

Question Number : 60 Question Id : 92090611098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tool which facilitates the user to save links to web pages that they want to
remember and share with other users,

(1) Tag (2) Social Bookmark
(3) Blog (4) Wikis
Options :

92090643837. 1
92090643838. 2
92090643839. 3
92090643840. 4

Question Number : 60 Question Id : 92090611098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg WItH (Fdid) ol Iudiddish B 39 a9 Uoll & feidl &1 WRidd A & i g &1d1 &,
forg 9 T1g TG YT 3= IUTibdIai & 1Y T B3 918d 6, Fedldi o :

(1) e (2) WA gHHD
(3) & 4) faoa

Options :



92090643837. 1
92090643838. 2
92090643839. 3
92090643840. 4

Question Number : 61 Question Id : 92090611099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these is not the mode of document delivery service ?

(1) Supplying the documents from library collection itself
(2) Obtaining documents from other libraries on ILL
(3) Referring users to some other libraries

(4)  Accessing and downloading web based documents

Options :

92090643841. 1
92090643842. 2
92090643843. 3
92090643844. 4

Question Number : 61 Question Id : 92090611099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafea & 9 #17 udw guaih dar &1 Rl 788 2

(1)  QRaobied 998 9 yad &1 Sl &1

(2) 3 U9 Ud & 3 GHIPTad! § YA W Bl
(3)  Sudiasdl &l fedl o= qradray HeH

(4) a9 SnUtivd el $1 SHRTHATE SISFaIS Bl

Options :

92090643841. 1
92090643842. 2
92090643843. 3
92090643844. 4

Question Number : 62 Question Id : 92090611100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among these classified documents into three categories, i.e., primary, secondary
and tertiary?

(1) W. Hanson (2) Denis Grogan
(3) S.R. Ranganathan (4) William A. Katz
Options :

92090643845. 1
92090643846. 2
92090643847. 3
92090643848. 4

Question Number : 62 Question Id : 92090611100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofifEg # 9 59 vaa &1 39 aftr siufd wufte, idiae ok qdias d Tffed
faar 2

(1) S&g e () I
(3)  UH.SR THEYA (4) faferm T 1ew
Options :

92090643845. 1
92090643846. 2
92090643847. 3
92090643848. 4

Question Number : 63 Question Id : 92090611101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The technique to facilitate search for multiple endings of a world is called

(1) Proximity search (2) Phrase search
(3)  Truncated search (4) Field search
Options :

92090643849. 1
92090643850. 2
92090643851. 3
92090643852. 4

Question Number : 63 Question Id : 92090611101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
freft 2reg & g Sider & fie Wi &1 gar a9 &1 ufafd seard 8 -

(1) g g (2) dETHD G
3) SRTEw 4) &F "
Options :

92090643849. 1
92090643850. 2
92090643851. 3
92090643852. 4

Question Number : 64 Question Id : 92090611102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The search engine ‘Bing’ was launched by

(1) Yahoo (2) Microsoft
(3) Google (4) Apple
Options :

92090643853. 1
92090643854. 2
92090643855. 3
92090643856. 4

Question Number : 64 Question Id : 92090611102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TT Telgor feas gRI 3 forar i 1 2

(1) dg (2) HIESHMEES
(3) TETd (4) U
Options :

92090643853. 1
92090643854. 2
92090643855. 3
92090643856. 4

Question Number : 65 Question Id : 92090611103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A well informed professional in a particular field acting as intermediary between
information source and information seeker 1s known as

(1) Extension worker (2) Resource Person
(3)  Technological gatekeeper (4) Expert
Options :

92090643857 1
92090643858. 2
92090643859. 3
92090643860. 4

Question Number : 65 Question Id : 92090611103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foell fadiw & o 15 gYfad Sreaurl YE-1 Wid SR Y1 SYS 31 did A & §9
H &1 Hdl & 39 Hel Sldl 8

(1) fawR srfeal (2) HHEA U e
(3) WHReH gRUE CHAanied Iehiu) (4) AUud
Options :

92090643857 1
92090643858. 2
92090643859. 3
92090643860. 4

Question Number : 66 Question Id : 92090611104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The malicious computer program, which copies itself over and over, eventually
causing the computer to crash

(1) Trojan Horse (2) Bomb
(3) Worm (4) Spam
Options :

92090643861. 1
92090643862. 2
92090643863. 3
92090643864. 4



Question Number : 66 Question Id : 92090611104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag gufayyl (AR HegeR T SR - IR SO Y BT HRaT § qUT Sfd: FER
$I WG IR AAQ, FE 8 -

(1) /5 819 (Trojan Horse) (2) % (Bomb)
(3) @M (worm) (4) TH ( spam)
Options :

92090643861. 1
92090643862. 2
92090643863. 3
92090643864. 4

Question Number : 67 Question Id : 92090611105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other 1s

labelled as Reason (R) :

Assertion (A) : The Normative Principles of cataloguing have been recognized for a

long time and have proved to be highly useful. These have provided a

scientific basis to the field of cataloguing.

Reasons (R): These can serve as the basis of a catalogue code providing guidelines

to the designer of a catalogue code.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :



92090643865. 1
92090643866. 2
92090643867. 3
92090643868. 4

Question Number : 67 Question Id : 92090611105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 HYA fSU 7T §: U SifieyA A 3R 9% R AHE & BYF RO T

HHBYT A - YYD & HHS Y Rigid 9gd Ugd I A=l U § aul i Iuarit
firez BU B | 3619 WUl & & &1 J1id SR W foan |

dF R: 3 gyl Hfgdr & Fufdreh & fie yaEiso dfga uergs famn - A
¥ YR F FY § A4S 81 gHd &

IWfdd DYl & Sfdld |, A AU U st # 9 9ad 9el IR g -

(1)  ASIRREH UE € SRR, A DI & AR &

2) A SRR I UEl € o R, A B Ul TS el &
3) AWSE PgrMOA?

4 ATAE fPgrUEE

Options :

92090643865. 1
92090643866. 2
92090643867. 3
92090643868. 4

Question Number : 68 Question Id : 92090611106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : Chained libraries in the middle ages which imply that the books were
actually fastened to the book shelves with iron chains like dangerous

prisoners who were not allowed to go out of their cells.

Reasons (R):  Books are for use and not for preservation

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

92090643869. 1
92090643870. 2
92090643871. 3
92090643872. 4

Question Number : 68 Question Id : 92090611106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A offiipyA A SR T R S o YA AT &
HYBHYT A . AHDI P YEifad GPpladl ¥ g @fd gidl & & arsad d gxds g9 9e®

T @A Hiedl &1 a¥e dle P sieikl J Sdat Jedl 4t 58 o Ja 4
TR 1 1 Sk A8l gl it

Tdb R: Q¥ JUART & o gl 8, 71 &1 W o3 & ferg
Sudd HYAl & SMar® §, A1 3 T Adedl & 8 Tad g8l 3w g

(1)
(2)
(3)
(4)

A 3R R GFT U8l & SR R, A 91 Wt arem 7

A 3T R S U8l €, i R, A B Uel oARa el &
AEl g, PR @

AT & fFdREET R

Options :

92090643869. 1
92090643870. 2
92090643871. 3
92090643872. 4

Question Number : 69 Question Id : 92090611107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other 1s

labelled as Reason (R) :

Assertion (A): Delayved discharging of books is done in ecase of lot of rush on the

return counter.

Reasons (R): In open access libraries, the members have to give a requisition ship

at the counter.

In the light of the above Statements, choose the most appropriate answer from the

options given below :

(1)
2
(3)
)

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) is not correct

(A) 1s not correct but (R) 1s correct

Options :



92090643873. 1
92090643874. 2
92090643875. 3
92090643876. 4

Question Number : 69 Question Id : 92090611107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 sifHHY A SR 76 R THE & HUF RA T &:

HHBYT A : 99l Oed W IS Mg &l g # qs! &1 fddifad 3= (Eas
fEwnfonT) fan Sran 8

dd R: ety s QaeTad § ewl @I yed W #iv udf &1 il §
Suddd Syl & faie §, i U e fdewedi & ¥ Tl wel 3o 9

(1) A SRR THI U8l & 3R R, A I Ugl oIS &

(2)  ASIRREH UE E AfFT R A T U rEm A 8
3) AWSE PgRIEIR

4) A'ddg [FgRESE

Options :

92090643873. 1
92090643874. 2
92090643875. 3
92090643876. 4

Question Number : 70 Question Id : 92090611108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : The development in computer and telecommunication technologies

have a direct impact on OPAC.

Reasons (R): OPAC allows any member to search the catalogue database remotely.

In the light of the above Statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

92090643877. 1
92090643878. 2
92090643879. 3
92090643880. 4

Question Number : 70 Question Id : 92090611108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 HfHpY A 3R T R TS G HY RAT 2:

YFYT A : SR 3R IR e H fAdH™ &1 iU (OPAC) TR Udel UHTd §

dd R: U fHdl W e &1 Uy FU Ayl B @ 1 SrAfd uaH
®Hdl &

Sudd Sl & Sfare o, A4 3 T awedl # 8 ¥ad 981 3| gAY

(1)  ASIRREHI 98l € SR R, A DI 9l AT &

(2) A SRR GHI gl €, AfdbH R, A B UL ARSI 78l &
3) AT PgRIGIR

(4 ATAdE fPgrRUEE

Options :

92090643877. 1
92090643878. 2



92090643879. 3
92090643880. 4

Question Number : 71 Question Id : 92090611109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) :  While under training in England, Ranganathan made a close study of
the principle classification schemes then existing. He was not
satisfied with any of them and wanted to devise a scheme of his own.

Reasons (R): Ranganathan get the idea of analytic-synthetic structure of a
classification scheme and developed a classification scheme which is
called colon classification.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(1) (A) is false but (R) is true

Options :

92090643881. 1
92090643882. 2
92090643883. 3
92090643884. 4

Question Number : 71 Question Id : 92090611109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3ffifwYA A 3R dd R TS &l HYHE YW §:
HYFYTA ;v H YRS I HRd G JHEA A 39 994 faymH ug@ arffeo

Ui &1 di 31ergH fahar or | 3 39 9 64t 3 +ft dgp =& 9 &R ot
Y & TP Yl BT MASPR BT 8d U |

dd R: T BT I HIA9gTdS aifeeul TEAl Ugid &1 [G9R e sk

I8 BT B ATHS U TR0 Ugd f[asRig &

Juddd HYAl & Sfais §, i 3T e fawedi 3 ¥ gl IR 9

1)
)
3)
(4)

[t

(
(
(

A 3R R T WE1 € SR R, A B WE SR §

A 3 R S U8l €, dfch R, A B Ue! RS &l 8
AR E, PR §

ATTeId 8, g R WE1 @

Options :

92090643881. 1
92090643882. 2
92090643883. 3
92090643884. 4

Question Number : 72 Question Id : 92090611110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A): UNIX and LINUX are open source softwares.

Reasons (R): Both the operating system softwares were developed by AT & T

information system.

In the light of the above Statements, choose the correct answer from the options given
below :

(1)
(2
(3)
4)

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true

Options :
92090643885. 1
92090643886. 2



92090643887. 3
92090643888. 4

Question Number : 72 Question Id : 92090611110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H1d 3{fHHY A 3R dh R AW & HyH AT &:
YSHYF A - g 3R Az [Faly Wid (3fiu 61) Wiredm 8

dd R: ol SToRfeT Rrew diteaar T8 T & (AT&T) g1 wumrel gR1 fasfa f6d
Y|

Juddd YAl F a3, A1 U mu e I | vl wel 39w 9y

(1) A3RRIH TS € SRR AP el AAT &

(2) A SRR T UEl € W R, A Bl Uel AR ol &
3) AUSE RBgRIEAR

(4) ATAdE [PIRULE

Options :

92090643885. 1
92090643886. 2
92090643887. 3
92090643888. 4

Question Number : 73 Question Id : 92090611111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following modes of formation of subjects and isolates :
(A) Fusion

(B) Lamination

(C) Loose assemblage

(D)  Fission

(E). Diastillation

Choose the correct answer from the options given below :

1) (A (), (D), (E), (B) (2) (B), A), (C), (D), (E)
@3 @), (B), (E), (C), (A) 4 (), (B), (D), (A), (E)



Options :

92090643889. 1
92090643890. 2
92090643891. 3
92090643892. 4

Question Number : 73 Question Id : 92090611111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fawai va fadiere & due @t Fafafad il @i srafua i

A. TS

NG

. e () we

EICEE!

. SEdd

A3 2 A Rieedt f ¥ T8 IR IR

(1) ACDERB 2 BACDE

(3) D,BEC.A 4 C,B,D,AE

m g N o

Options :

92090643889. 1
92090643890. 2
92090643891. 3
92090643892. 4

Question Number : 74 Question Id : 92090611112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the alphabetical catalogues based on their types
(A)  Title catalogue

(B) Author catalogue

(C) Dictionary catalogue

(D)  Subject catalogue

(E) Name catalogue

Choose the correct answer from the options given below :

1) (A), (©), (D), (E) (B) (2) (B), (A), (D), (C), (E)
3)  (B), A, (E), D), (C) 4) (O), (B), (A), (D), (E)
Options :

92090643893. 1
92090643894. 2
92090643895. 3
92090643896. 4

Question Number : 74 Question Id : 92090611112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafad quitsie wRd & 396 USRI R S SHH § Jafyd Sif:-

A. YN (3M1%T) Ut
B. WG W[H!

C. Ysadh Y Ul
D. fawg gt

E. A Ul

Ard 13 M fadbedi # 4 Hel SR gFa
(L ACDERB

20 B,ADCE

(3 B,AEDC

(490 C,B,A,DE

Options :
92090643893. 1
92090643894. 2



92090643895. 3
92090643896. 4

Question Number : 75 Question Id : 92090611113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the acts in ascending order as per time enactment.

(A) Delivery of Books and Newspaper Act
(B) Maharashtra Public Libraries Act

(C) West Bengal Public Libraries Act

(D) The Indian Copyright Act

Choose the correct answer from the options given below :

(1) (B), (D), (A). (C) (2) (C), D), (B), (A)
(3)  (A), (D), (B), (C) 4) (D), (B), (A), (C)
Options :

92090643897. 1
92090643898. 2
92090643899. 3
92090643900. 4

Question Number : 75 Question Id : 92090611113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRaa sl @1 3@ iU & SR SR &3 ¥ sAaiid $ifo ;

D. YR ufdferaniesr sifafaam

i o T fadedt § 9 Wl SR g
(1) B.D,AC
2 C,D,BA

(3 A DB,C
N EBAD



Options :

92090643897. 1
92090643898. 2
92090643899. 3
92090643900. 4

Question Number : 76 Question Id : 92090611114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the periods of management thought development according to Edward Evans
in ascending order :

(A) Human Relations period
(B) Synthesis period
(C) Scientific Management period

(D)  Pre-scientific period

Choose the correct answer from the options given below :

1) (B), D), (©C), &) (2 (©), (A), (D), (B)
3)  (B), (C), (A), (D) 4) (D), (O), (A), (B)
Options :

92090643901. 1
92090643902. 2
92090643903. 3
92090643904. 4

Question Number : 76 Question Id : 92090611114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



USas 39 & SFHR UaeH faaR fasr sramaftl &1 sRig &1 o syafeyd Siferd:
A. HFG Gy BT
B. YAy &1
C. dF1FP Ydy= HTa
D. gd - 39S H1a
I e W el A 9 w9 I g

(1) B.D,CA

(2) C,AD,B,
(3 B, CAD,
49 DCAB

Options :

92090643901. 1
92090643902. 2
92090643903. 3
92090643904. 4

Question Number : 77 Question Id : 92090611115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in sequence, the steps of reference service process :
(A) Query Analysis

(B) Refining

(C) Searching

(D) Reference Interview

(E) Formulation of Search Strategy

Choose the correct answer from the options given below :

(1) D), @A), (E), B), (C) (2) (A), (E), (B), (D), (C)
3)  (B), (C), (A), (D), (E) (4) (A), (D), (B), (E), (O)
Options :

92090643905. 1
92090643906. 2
92090643907. 3
92090643908. 4



Question Number : 77 Question Id : 92090611115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ha Ja1 ufkan & JaHl S srhH H afeud Hiforg
A. T (J=31) fazeimur

ufRATSH

3490y

. G TSR

. 390 TOHITA &1 ufcrare

4 ) ) et 1 @ W SR g -

(1) D AEBC

m o 0w

@ AEBDC
3) BCADE
4 ADBEC

Options :

92090643905. 1
92090643906. 2
92090643907. 3
92090643908. 4

Question Number : 78 Question Id : 92090611116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the media of transmission according to their speed (Increasing order) :
(A) Coaxial Cables

(B) Twisted Pairs

(C) Microwave Transmission

(D)  Optical Fibre

(E) Satellite Transmission

Choose the correct answer from the options given below :

1) (W), B), D), (O), (E) (2) (B), (C), (A), (D), (E)
3)  (B), (A), (D), (C), (E) 4) (A), (B), (C), (D), (E)
Options :

92090643909. 1
92090643910. 2
92090643911. 3
92090643912. 4

Question Number : 78 Question Id : 92090611116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYR HifE1 &1 ITD! 1 F SFUR (SRIET HH H) sUafeyd Hifere

A. GHIE Had
B. dfdd g
C. H5HIad AR
D. USRS BIga
E. 3U9e §9R
49 f&d 7 fawedl | 9 wel SR g
() A BD,CE
(2 B,C,ADE
(3 B,ADCE
49 ABC, DE



Options :

92090643909. 1
92090643910. 2
92090643911. 3
92090643912. 4

Question Number : 79 Question Id : 92090611117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the year-wise development of catalogue codes :

(A)  Daziatizk Code

(B) Charles C. Jewelt Code

(C)  Rules of Dictionary Catalogue
(D) The Prussian Instructions

(E)  British Museum Code

Choose the correct answer from the options given below :

(1) (A, (Q), (D), (B), (E) (2) (E), (B), (C), (D), (A)
(3) (E), (A), (B), (C), (D) (4) (D), (B), (C), (A), (E)
Options :

92090643913. 1
92090643914. 2
92090643915. 3
92090643916. 4

Question Number : 79 Question Id : 92090611117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafeiea uRpE fear S 396 Ao g1 & 94 & uR afud Hiforg

A. foranfe® (Dziatizk) Hfgd

B. e Ut oide — wfgar

C. eIy (igshiien) e Fram
D. ufkmrs Adw

E. fofew duerey - dfean

A9 Rl ) Rieped! 72 T SRR

(1)
(2)
(3)
(4)

A CDBE
E.B.C.D A
EEABCD
DBCAE

Options :

92090643913. 1
92090643914. 2
92090643915. 3
92090643916. 4

Question Number : 80 Question Id : 92090611118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ ;

Statement I :

The Canon of recall value was propounded in 1979 by Ranganathan.
The i1dea of recall value was mentioned by Ranganathan in theory of
classified library catalogue.

Classified catalogue code follows the Canon. It prescribes author
heading as the heading of a main entry except when the work does
not have any author.

In the hight of the above Statements, choose the most appropriate answer from the
options given below :

(1)
2)
3)
(4)

Both Statement [ and Statement Il are correct

Both Statement | and Statement Il are incorrect

Statement [ 1s correct but statement 11 1s incorrect

Statement [ is incorrect but statement Il is correct

Options :
92090643917. 1



92090643918. 2
92090643919. 3
92090643920. 4

Question Number : 80 Question Id : 92090611118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) YIRS He1 g
(2) ®YF1 3R EHI T 8
(3) Y19 ©, Al YA 11 TTed B
(4) HYT| HGA g, Al HY 1 5L ©

Options :

92090643917. 1
92090643918. 2
92090643919. 3
92090643920. 4

Question Number : 81 Question Id : 92090611119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I : A book number normally represents author, or it may represent vear
of publication.

Statement II : The call number indicates the position of a book on the shelf. It
constitutes the class number plus the book number including
collection number.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ 1s correct but statement 11 is incorrect

(4) Statement [ is incorrect but statement I is correct

Options :

92090643921. 1
92090643922. 2
92090643923. 3
92090643924. 4

Question Number : 81 Question Id : 92090611119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090643921. 1
92090643922. 2
92090643923. 3



92090643924. 4

Question Number : 82 Question Id : 92090611120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(;iven below are two statements :

Statement I : The major purpose of Inter-Library Loan (ILL) 1s to place every book,
manuscript, archive or other graphic record within the reach of
persons who need them.

Statement Il : The five laws of library science are not concerned with theory of ILL.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement II are incorrect
(3) Statement I 1s correct but statement II 18 incorrect

(4) Statement [ 1s incorrect but statement 11 1s correct
Options :

92090643925. 1

92090643926. 2

92090643927. 3

92090643928. 4

Question Number : 82 Question Id : 92090611120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090643925. 1
92090643926. 2
92090643927. 3
92090643928. 4

Question Number : 83 Question Id : 92090611121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement [: UNIX and LINUX looks similar.

Statement II :  Both the operating system softwares comes from the same code.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct

(2) Both Statement [ and Statement II are incorrect
(3) Statement [ 1s correct but statement 1l is incorrect
(4) Statement I 1s incorrect but statement I 1s correct

Options :

92090643929. 1
92090643930. 2
92090643931. 3
92090643932. 4



Question Number : 83 Question Id : 92090611121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 Q By 3 T §:

HYF | ; g SR TT3 TP GHM Yald 8 § |

HY Il : THT SR A TRTR E A B AT |
ORI e ¥ el §, A1 Ry Ty Rl 7 9 W SR g

(1) YIRS T &
(2) HYF ISR TH A @

(3) Y| TSI E, AP HYF 11 TAd &
(4)  HYF |70 g, AfbT HYF 11 e ©

Options :

92090643929. 1
92090643930. 2
92090643931. 3
92090643932. 4

Question Number : 84 Question Id : 92090611122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Social Networking is grouping of Individuals for a specific purpose.

Statement II: Twitter 1s a social networking website which 1s popular around the

world.

In the Light of the above Statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement [ and Statement II are false
(3) Statement | 1s true but statement 11 1s false
(4) Statement I is false but statement II is true

Options :

92090643933. 1
92090643934. 2
92090643935. 3



92090643936. 4

Question Number : 84 Question Id : 92090611122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEACACAFURIOES
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(1) HYFI3RISHI TS &
2) HYFI SR ITH T @
(3) Y| gl 8, AP HYF 1 7TAd ©
4) ®YT I TAd g, dfce HYF 11 Hel §
Options :
92090643933. 1
92090643934. 2

92090643935. 3
92090643936. 4

Question Number : 85 Question Id : 92090611123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  The basic characteristic of a good university library is its complete
identification with its institution.

Statement Il : Special libraries are not open for everybody and serve to specialized
clientele.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but statement II is false

(4) Statement I 1s false but statement II is true



Options :

92090643937. 1
92090643938. 2
92090643939. 3
92090643940. 4

Question Number : 85 Question Id : 92090611123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRIAFAERAMEE
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(4)  ®YT | TTad g, Al YT 11 9 ©

Options :

92090643937. 1
92090643938. 2
92090643939. 3
92090643940. 4

Question Number : 86 Question Id : 92090611124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ : The World Wide Web encompasses the universe of information via

HTTP.

Statement II: HTTP does not provide access to internet protocols like FTP and
SMTP.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement 1l are true
(2) Both Statement [ and Statement Il are false
(3) Statement I 1s true but statement II is false
(4) Statement [ i1s false but statement II is true

Options :

92090643941. 1

92090643942. 2

92090643943. 3
92090643944. 4

Question Number : 86 Question Id : 92090611124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
41 A by 33 M &
PYAI| : dcs diss 48 A I & it & A § YA 9 B IR IG 8§

FYAI: A A up A W SR v e A Ui S geae Uieidlal & i A8l ueH
HXl & SWIFd HYA & STl |, - 3w 7 fased! # 9 wgl 3w g+ -

(1)  ®YF | 3R 1 SF Hel &

(2) YA SR IIEH Tad g

(3) &Y | Hel g, i YA 11 7Tad ©

(4) HYF 7T g, b YT 11 el §

Options :

92090643941. 1

92090643942, 2

92090643943. 3
92090643944. 4



Question Number : 87 Question Id : 92090611125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the library networks among these :
(A) NICNET

(B) DELNET

(C) INDONET

(D) ADINET

(E) JANET

Choose the correct answer from the options given below :

(1)  (A) and (C) only (2) (B)and (D) only
(3) (C) and (E) only (4) (B) and (E) only
Options :

92090643945. 1
92090643946. 2
92090643947. 3
92090643948. 4

Question Number : 87 Question Id : 92090611125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ad A 3R C,
(2) &ad B3RD
(3) &dd C 3ARE
4) Hdd BIIRE

Options :

92090643945. 1
92090643946. 2
92090643947. 3
92090643948. 4

Question Number : 88 Question Id : 92090611126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among these are proprietary software for library management?
(A) Koha

(B) SOUL

(C) Liberty

(D) Evergreen

Choose the correct answer from the options given below :

(1)  (A) and (C) only (2) (B) and (D) only
(3) (B) and (C) only (4) (A) and (D) only
Options :

92090643949. 1
92090643950. 2
92090643951. 3



92090643952. 4

Question Number : 88 Question Id : 92090611126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JETad Yaed g Wiitd SitedmR Fafif@a d 3 e a g2

A. I8l
B. Hd
c. foadt

D. UadH
4 fou U fas el 1 § Uel IR &1 994 Hifot

(1) &ad A, 3R C,
(2) &dd B3MRD
(3) &dd B, 3R C
4)  &dd ASRD

Options :

92090643949. 1
92090643950. 2
92090643951. 3
92090643952. 4

Question Number : 89 Question Id : 92090611127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The getway, which is opened for information that passes one or more security
instruction is called

(A) Codes
(B) Firewall
(C) Shield
(D)  Audit

(E) Password

Choose the correct answer from the options given below :

(1) (A and (D) only (2) (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

92090643953. 1
92090643954. 2
92090643955. 3
92090643956. 4

Question Number : 89 Question Id : 92090611127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090643953. 1
92090643954. 2
92090643955. 3
92090643956. 4

Question Number : 90 Question Id : 92090611128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements about ‘Index Translationum’.

(A) Itis an international bibliography of translation.

(B) It provide details of books translated in the world of English.
(C) It covers limited field of knowledge.

(D) It is compiled and published by library of congress.

Choose the correct answer from the options given below :

(1)  (A) and (C) only (2) (A) and (D) only
(3) (A) and (B) only (4) (B) and (C) only
Options :

92090643957. 1
92090643958. 2
92090643959. 3
92090643960. 4

Question Number : 90 Question Id : 92090611128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &dd A S8R, D
(2) &dd B

(3) ®dd C3MR D
(4) Hdd DIRE

Options :

92090643957. 1
92090643958. 2
92090643959. 3
92090643960. 4

Question Number : 91 Question Id : 92090611129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MEDLARS feature includes :

(A) MEDLARS is a computerized storage and retrieval of biomedical hiterature.
(B) MEDLARS is a full text biomedical retrieval system.

(C) MEDLARS was established in 1864.

(D) MEDLARS started at NLM on the campus of NIH in Betherda, Maryland.

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (D) only
(3) (A) and (C) only (4) (B) and (D) only

Options :



92090643961. 1
92090643962. 2
92090643963. 3
92090643964. 4

Question Number : 91 Question Id : 92090611129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &dd B, 3R, D

(2) @dd ASRD

(3) dd ASRC

(4) Pdd BIARD
Options :

92090643961. 1
92090643962. 2
92090643963. 3
92090643964. 4

Question Number : 92 Question Id : 92090611130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the operations of technical processing section of a library?
(A)  Classification

(B) Translation

(C) Maintaining shelf list

(D)  Shelving

(E) Preparation of list of additions

Choose the most appropriate answer from the options given below :

(1) (), (D) and (E) only (2) (A), (B) and (C) only
(3) (B) (C) and (D) only (4) (A), (C) and (E) only
Options :

92090643965. 1
92090643966. 2
92090643967. 3
92090643968. 4

Question Number : 92 Question Id : 92090611130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ad C,D3RE

(2) &ad A B, 3R C

(3) &dd B,C3MRD

(4) Had ACSRE
Options :

92090643965. 1



92090643966. 2
92090643967. 3
92090643968. 4

Question Number : 93 Question Id : 92090611131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are launched by UNESCO?

(A) UNISIST

(B) SSDC
(C) CAC
(D) NATIS

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (D) only (4) (A) and (C) only
Options :

92090643969. 1
92090643970. 2
92090643971. 3
92090643972. 4

Question Number : 93 Question Id : 92090611131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090643969. 1
92090643970. 2
92090643971. 3
92090643972. 4

Question Number : 94 Question Id : 92090611132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1 :

(A)

B)
(©)

()

List I
RDA

OPAC
MARC21

GILS

List IT

(I) To act as a bridge between library
resources and users

(IT) ILMS software

(ITI) Government Information Loeation
Service

(IV) Standard for cataloguing

Choose the correct answer from the options given below:

(1)
2
(3)
4)

A)-(D), (B)-AV), (O)-I), (D)-(I1D)
(A)-a1D), (B)-(@D), (C)-AV), (D)-(D)
(A)-(@), (B)-(IID), (C)-(ID), (D)-(IV)
(A)-aV), (B)-(D), (O)-I), (D)-(I1D)

Options :



92090643973. 1
92090643974. 2
92090643975. 3
92090643976. 4

Question Number : 94 Question Id : 92090611132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C) HI& 21 ( MARC 21) (1) DI a1 Ry Jar
(D) e (GILLS) (V) UEBR0 S

=14 f3u e Al § 9 UEl IR &1 99 Sifo:

(D QD). B)-AV), (C)-(1D), (D)-A1L)
(2) (A, (B)-D), (O)-AV), (D)-(ID)
@) A)-D), (B)-(ID), (C)-I), (D)-(IV)
(4)  (A)-IV), (B)-(D), (C)-(ID), (D)-(I1I)

Options :

92090643973. 1
92090643974. 2
92090643975. 3
92090643976. 4

Question Number : 95 Question Id : 92090611133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

List 1 Last 11
(Algorithm) (Symbols)
(A) Terminal M >O N

(B) Process
w

(C) Decision making (D)

(D) Connector av) ( )

Choose the correct answer from the options given below:

(1) (A)-aID), B)-IAV), (C)-(I), (D)-(1L)
@  (A-av), (B)-(11), (C)-111), (D)-(I)
3)  (A)-AV), (B)-(I1D), (C)-(1I), (D)-(D)
4)  (A)-aD), (B)-(I1D), (C)-(IV), (D)-(D)

Options :

92090643977. 1

92090643978. 2

92090643979. 3
92090643980. 4

Question Number : 95 Question Id : 92090611133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 f3u MU fasmedl # 9§ 9El IO &1 9949 SIS

(1) A)-aID, (B)-(IV), (O)-(), (D)-(D)
(2)  (A)-(V), (B)-1D), (O)-(IID), (D)-(I)
(3 (A)-AV), (B)-IID), (C)-aD), (D)-()
(4)  (A)-1D, (B)-(IID), (C)-AV), (D)-(I)

Options :

92090643977. 1
92090643978. 2
92090643979. 3
92090643980. 4

Question Number : 96 Question Id : 92090611134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List II
(Computer Generations) (Electronic components used)
(A) First Generation (I) Silicon chips/microprocessors
(B) Second Generation (I) Vacuum Tubes
(C) Third Generation (ITI) Transistor
(D) Fourth Generation (IV) IC chips

Choose the correct answer from the options given below:

(1) (A)-AV), (B)-(ID), (C)-(1), (D)-(11L)
2  AQ-aD, (B)-IV), (C)-111), (D)-(I)
3)  (A)-aD, (B)-(ILD, (C)-(AV), (D)-(V)
@) (A)-a1D), B)-IV), (C)-(D), (D)-(1D)

Options :

92090643981. 1

92090643982. 2

92090643983. 3
92090643984. 4

Question Number : 96 Question Id : 92090611134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & a1y gl 11 &1 e $ifo

dl-1 (@ugeR didh -
(TG JABLIHD e )
A)  uyH idh () fofereeT oy Ags! TR
8) feda didh () Fafd et @pgA =m)
(C) qdig didt (1 ciferex
(D) dqd Uil (1v) 3ms 4t fag

19 fau v faswedl | 9 9el IR &1 9949 Sifor:

() (A)-(IV), (B)-(ID, (O)-(D), (D)-(1L)
(2)  (A)-(ID, (B)-AV), (O)-11D), (D)-(D)
(3)  (A)-aD, (B)-ID), (C)-(IV), (D)-(V)
(4)  (A)-(ID), (B)-(IV), (C)-(D), (D)D)



Options :

92090643981. 1
92090643982. 2
92090643983. 3
92090643984. 4

Question Number : 97 Question Id : 92090611135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match Last I wath Last 11 :

Liast I
(Malware)
(A) Worm
(B) Bomb

(C) Trojan Horse

(D) Parasite

List I1
(Activity)
(I) Virus which waits for certain period
before executing code
(I) Virus which copies itself multiple
times eventually leading to crash
(ITI) Virus which appears to have useful

function, but have a secret
malicious motive

(IV) Virus which attaches themselves to
other program

Choose the correct answer from the options given below:

(1) (A)-@), (B)-(II), (C)-(IV), (D)-(11L)
2)  @A)-dD, (B)-(1), (C)-(I1D), (D)-(IV)
(3)  (A)-aD), (B)-(1ID), (C)-(D), (D)-(IV)
4)  (A)-ID), (B)-AV), (C)-11), (D)-(I)

Options :

92090643985. 1

92090643986. 2

92090643987. 3
92090643988. 4

Question Number : 97 Question Id : 92090611135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Tt | & a1y g 11 T e i

TAl-1 (ATAdTR) Tl 1 fafafe

(A) @TH (WORM) () T IERY & sis FHwreA & yd Mg
3afY d& Udie el &

(B) I (BOMB) () 98 9’y Sl 39+ 39 &3 gR B4l
S & 3R 3idd T B ol 2

(€) o g (1) 98 IO Sl Iuanft &1d &3 aran
vt g ¢ febg 3ad gufayef wads
fAfgd gl g

(D) WRERe (V) @8 3/Ed off @4 & 3 UNH &
g1y Tfend HR A1 8

i fau U fadedi 4 9 el IR &1 994 SHifo:

() (A-D), B)-AD), (C)-(IV), (D)-(1D)
(2 (A)-ID, (B)-(D), (C)-(1I), (D)-AV)
(3)  (A)-1D, (B)-(IID, (C)-(I), (D)-(IV)
(4)  (A)-(ID), (B)-(IV), (C)-(ID), (D)-(D)

Options :

92090643985. 1

92090643986. 2

92090643987. 3
92090643988. 4

Question Number : 98 Question Id : 92090611136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match Last I with List IT :

Last I List II
(Subject) (Symbol)
(A) Common auxiliaries of language (I) Symbol (1/g)
(B) Common auxiliaries of form aIn -“..... "
(C) Common auxiliaries of place (ITI) Symbol (0.....)
(D) Common auxiliaries of time (IV) Symbol =

Choose the correct answer from the options given below:

(1)  (A)-a), (B)-11), (C)-(IV), (D)-(D)
(2  @-av), (B)-11), (C)-D), (D)-(1D
3  @-I B)-IID, (C)-(I), (D)-(IV)
4  (A)-aD, (B)-1D), (C)-AV), (D)-(I1I)

Options :

92090643989. 1
92090643990. 2
92090643991. 3
92090643992. 4

Question Number : 98 Question Id : 92090611136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| & g 1 & g ghfid SR

i1 (fawm) Tt -1 (UdiD)
(A)  HIST T HHA HelH (i) Udid (1/9)
(B) URSY &1 HHA YD (ii)
(© WS HE s (i) UdlP (o.....)
(D)  HHY & M Hedd (iv) Wdld =

(1) (A)-(ID), (B)-(ID, (C)-(IV), (D)-()
(2 (A)-IV), (B)-IID), (C)-(D), (D)-(1L)
(3) (A1, (B)-(ID), (C)-(1I), (D)-(IV)
(4)  (A)-(ID, (B)-(D), (C)-(IV), (D)-(11I)

Options :

92090643989. 1
92090643990. 2
92090643991. 3
92090643992. 4



Question Number : 99 Question Id : 92090611137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match Last I with Last IT :

List I Last I
(Profounders/Persons) (Theorv/Concepts)
(A) Luther Gulick (I) Systems theory
(B) Chester I. Barnard (IT) Motivation theory
(C) Frederick Herzberg (ITI) Scientific management
(D) F.W. Taylor (IV) POSDCORB

Choose the correct answer from the options given below:

(1) @)-dDn, (B)-(I1D), (C)-(D), (D)-(IV)
(2  A)-dm, B)-D, (C)-aV), (D)-ID
3)  A)-av), (B)-(D), (C)-(II), (D)-(1I)
@) (A)-1), (B)-(IV), (O)-(II), (D)-(1LI)

Options :

92090643993. 1
92090643994. 2
92090643995. 3
92090643996. 4

Question Number : 99 Question Id : 92090611137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & a1y G 1 & ury gafed $ifee
-1 (diaTges / safda) SiGIal

A IR Tfas ()  womel Rigid

B. TR G EIS iy SR fagid

C. ThsR® goat (i)  AFD UEEH

D. Uh. 3deg e (iv) URE ®Id (POSDCORB)

49 fau MU faeedi § 9 el 3Tk &1 99 Sif

(1) (A)-1D), (B)-(1ID), (C)-(I), (D)-(IV)
(2)  (A)-(ID, (B)-(D), (O)-aV), (D)-(1D
(3 (A)-(V), (B)-(D), (C)-(ID), (D)-(I1)
(4 A)-D), B)-AV), (C)-dD), (D)-(I1L)

Options :

92090643993. 1
92090643994. 2
92090643995. 3
92090643996. 4

Question Number : 100 Question Id : 92090611138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last IT :
List I List II
(Work/Concept) (Method)
(A) Periodical work (I) Two card system
(B) Stock verification (IT) Three card system
(C) Circulation (III) PPBS
(D) Budgeting (IV) By shelf Register

Choose the correct answer from the options given below:

1) (A1), (B)-(II), (C)-(1D), (D)-IV)
@  (A)-av), (B)-D), (O)-aD, (D)-(11D)
3)  (A-1D, (B)-(I1I), (C)-(), (D)-IV)
4 (A)-aD, (B)-(1V), (O)-(D), (D)-(1D)



Options :

92090643997. 1
92090643998. 2
92090643999. 3
92090644000. 4

Question Number : 100 Question Id : 92090611138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT | & 1Y Y 1S "y gAferd sifee
Y- (T HeeuH) G IIR(EI0)

(A) STl BT o fePE s
(B) HSR I (y BeEugfa
(€) uREmeH () dididies (PPBS)
(D) doled (v) Furidst grr

49 feu e fasedi § 9 9el IR &1 999 Sifo :

(1) (A)-(D), (B)-(III), (C)-(II), (D)-(IV)
(2) (A)-(IV), (B)-(D), (C)-(ID), (D)-(I1I)
(3) (A)-(IT), (B)-(IL1), (C)-(I), (D)-(IV)
(4) (A)-(ID), (B)-(IV), (C)-(I), (D)-(I1I)

Options :

92090643997. 1

92090643998. 2

92090643999. 3
92090644000. 4



